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1 TV50—06 Bt R E T A7 7 VMR A #(13) [50[=]] &8 I 7Y
2 TV50—08 REBIRI SRERLIE T A7 7 LV NE A P(20F) [50[=]] &8 I 7Y
3 TV50—09 eI SRERLIE T A7 7 VMR G PI(13F) [50[=]] &8 I 7Y
4 TV75—11 Bl RERLE T A7 7 /VNEE#(20T) [75[e]] &8 TR
5 TV50—12 Rl SRR E T A7 7 /VNEA#(13T) [50[=]] &8 I 7Y
6 R50—01 AR 22 E LR A P(20) [R40%] [50[E]] 60/80

7 R50—03 BRI E 7 27 7 VNG #(20) [R30%]) [50M=]] 60/80

8 R75—03 BRI 7 27 7V NEG#(20) [R30%]) [75MH]] 60/80

9 R50—06 FAEERLET A7 7 /VNESH(13) [R30%-R50%] [50[=]] 60/80
10 R50—07 FERRLE T A7 7 )V NEAP(13) [R30%] [50[=]] 60/80
11 R50—08 AR T 27 7 /VMEG#(20F) [R30%-R50%] [50[@] 60/80
12 R50—09 AR T 27 7 /VMEG#(13F) [R30%-R50%] [50[=]] 60/80
13 R50—10 PRI 7 27 7V MEA#(13F) [R20%] [50[=1] 60/80
14 R75—11 FAEBRIET 27 7 VNEE(20T) [R30%] [75[H]] 60/80
15 R50—12 FHEBRLEE T 27 7V MEE (13T [R30%-R50%) [50[=1] 60/80
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